Standard 4 Review:  ~Name:

1. Find the Domain of the following functions.

a. fIx)=3x"+7x-11 b. g(x)= 22x4
¥ —
C. h(x)=dx-—7 d. ](x)=2;+3—
x°-11x-28
2. Simplify.
x-5 x?=5x-14
a. x? =25 b. x—2
x* +6x—=27 d x2
x* —13x +30 T Xt +x

3. Multiply or Divide and Simplify.

x> +4x x-4 x2+6x+8 x*-9
L] [

a, = ' b.

x"-16 x x> 4+x-12 x+2
o ZA5x+6 X7 +8x+12 g SoSx-l4 X7 -7x-18
" x*-8x-33  x+6 " x*-36 x*—15x+54

4. Add or Subtract and Simplify.
N b Ez4 40
T x+2 x-3 T x-8 x*-6x-16
6 1 +1 2

c. d Z

+ . — -
x> +2x-8 x*-5x+6 x> +4x-5 x> +8x+15



5. Simplify.

9 1 2
3+ +—
x—3 xX+2 x
a. 12 b. 4 2
4 + B
x -3 x x(x+2)
6. Solve.
a. 3x+2=l b X+ e o =
2 4
e, 3x-2=2i6=227 d =L _s
5 x-2
e. 2x +x+3=0 f. 1+ 2 + 4 =0
x=3 4 x+2 x-2
3 1 X 1 13
g. — = — h. + = =
x+3 x 3x x+5 x-3 x"+2x-15
Loxt2_ 2 6 __2
T oox x-1 L 3(x —2)



7. Solve.

2_
a. x+120 b. Z 4<O
x—-4 X
2
e, XEx26. d =2
x+1 x

8. Find the equations for all the Vertical, Horizontal and Slant Asymptotes of the
following Rational Functions. Use them to sketch a graph of the function.

4

1 ) X .
a. f(x)—x_2 V: b. g(x)--x2+4 V:
H/S: H/S:
3x? . oo 2x—4
c. h(x)= = V: d. j(x)= ST
H/S: H/S:
x* +6x+8 ) _2x+8
e. f(x)= T V: f. k(x)= Ao 16

H/S: H/S:




